
TOEIC Part 3- 11

Choose the best answer

Questions:

1. Why does Mr. Landis visit?

A) To ask about some trip.

B) To check Ms. Winters orders.

C) To see the place for lease.

D) To interview Ms. Winters.

2. Who are the general clients?

A) Local residents

B) Expatriates

C) Conglomerates

D) Professionals

3. What can be inferred to Mr. Landis statement “ It seems rather 

small”.

A)       The area is suited for his needs.

B)       The area is not suited for his needs.

C)       He likes measuring areas.

D)       He merely describes the area.


